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The Beaks of Finches
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The finches on the Galapagos Islands had different size and shapes of beaks. Darwin reasoned that these adaptations allowed the different finches to be more successful in obtaining food. You will be using different utensils and ‘seeds’ to simulate Darwin’s finches with differing adaptations gathering food. 
1. Hypothesize about how useful your tool will be for picking up seeds. EXPLAIN your answer! Remember your “if,” “then,” “because” statements. 
2. The group next to you has another tool. Compare the differences between the tools and speculate on which tool will be better and why.
3. The first person in the group will use the “tool” to pick up the seeds (popcorn kernels) in one dish and transfer them to another dish. Record the number of seeds picked up in the appropriate place in the chart.

4. Return the seeds to the original dish.
5. Repeat three more times.

6. Determine the average number of seeds picked up in 20 seconds. Record the number of seeds picked up in the Data Table. 
7. Now the rest of the group will repeat procedures 3-6.

8. Compare your averages with the group next to you. Whose rate was higher and why?

9. Why did both groups ‘feed’ out of the same dish?  What did feeding out of the same dish represent?
Data Table:







   

	Tool
	1st 20 seconds
	2nd 20 seconds
	3rd 20 seconds
	4th 20 seconds
	Average #

	First Person
	
	
	
	
	

	Second Person
	
	
	
	
	

	Third Person
	
	
	
	
	

	Fourth Person
	
	
	
	
	


10. Beak Off:  The best ‘feeder’ from each group (with their tools) will now feed on one common dish. If you were eliminated you must observe patterns of behavior and monitor the survivors.

Behavioral observations: (Record observations of the other birds while your partner is feeding- use scientific terminology only).
_
_

_
Analysis:  Answer in complete sentences. 
1. What is the relationship between beaks and seed-gathering?  How does this contribute to the bird’s overall fitness level?
2. Explain in complete sentences how natural selection contributes to the evolution of new adaptations.
3. Birds such as Darwin’s finches are adapted to occupy highly specific niches (their role in an environment). Would this adaptation make it easy or difficult for such birds to adapt to environmental change? Why or why not? EXPLAIN!
4. Stephen Gould said, “Ideal design is a lousy argument for evolution…..odd arrangements and funny solutions are proof of evolution.” Think of an animal’s body part that would illustrate Gould’s statement- describe how your animal and its respective “odd” or “funny” body part illustrates the above statement.  
